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Roll No. .o ADVANCED MANAGEMENT -
L | | ACCOUNTING | | .
f - Total Ne. of Questions—7 & Total No of Prmted Pages — 16 L
. Time Allowed - 3 Hours B L Max1mum Marks - 100 |

who have opted for Hindi medlum Ifa candldate has not opted for Hmdl medlum

his/her answers in Hmdl will not be valued
Questlon No 1 is compulsory
Answer any five questlons flOl’Il the remamlng s1x questlons

W"‘g'kmg notes should fOr:m part of the answer

h . - NQ Statlst,‘ al or other tabie w111 be prov1ded w1th thlS questlon Paper
i

Wherever necessary, candldates may make approprlate assurnptlons and clearly state .
them ' -

-1, (a) The followmg are cost data for three altematlve ways of procassmg : 5 _
WOl‘i( cases inan ofﬁce system L ' '

T T A s 1 ¢

' j.‘IV\/Itm}tlal' Semi Auton‘iatic' ~ Fadly ‘

® | ® | Awtomatic |

. o

[ Total fixed cost per month 3";000"' 1 9,000 e 25,000

Varlable cost per case o A48 ,' 28 B - 8

| - Calcu_l_ate.(:ost mdlfference points. Interpret your_resnlt.'S‘tate for what o g

' ' . _voln'rlne's‘_of cases will you prefer each of A, B andC. ,
- . CSM S © PTO.
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Answers to questlons are to be given only in Enghsn except in the case of candldates S




| . CSM' Marks
(b) Cla531fy the followmg items under approprlate categor]es of quality 5

costs, viz., Pre‘rentlon COSts (PC), Appraisai Costs (AC); Internal
" Failure Costs (IFC ¥ and Externai F allure Costs (EFC) =

@ Unplétnned;'pgplac:e-ntettt to cu_stomers |
'. . (it). -;_‘(jor:réctiosllot’lel] bank 'Statsnlen_t :_ |
(i) D-cls-ig'n:r_eview' |

(‘V) Eqmpment aé'c.ﬁra¢§,checg' —_—
'.-tv:) : Stﬂ_ff'trétni'rié | | | "
(Vl) .-.l.ij.e:ptocgess-ing: 0t‘ al-loan"c.)_perat_ion._l-..,'Z R
(vu) Product ltabllltywarranty o E - o s .
. 7. (Vlll) ‘RFOdust:acc‘si‘)t;l_n-c:s L
| (1x) Wastageofmatenal
(X) P laﬁﬁed nttii'tltenane of etjuipméitt ,

. -(Candtdates may Opt for the followmg format and fill i in the approprtate =

- Roman numerals under each column)

oo 'PC | AC | IFC "EF'C 1

[QNos.—. |*

~CSM " .
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3)

CSM f

o Marks

(c) The unit profit matr1x based on four factories and three sales depots of a 5 |

: company and unbalanced quantltles of demand and supply are tabulated

bel_ow. The main ob_]\,ct_of the company is to maxumze. profit. Assume

 that there is no "p‘-roﬁt-i;i case of surplus production.

| Sales j)epot's .

Factories. |

s1 |

s2

| s3

1 Supply (Nos.) -

... Towns

10

R | _F2 j

150 -

50

7_3_‘7,9 .

1007

| Demand (Nos)) |

120

: 150‘:‘

Formulate the above as a usUal transportation minimization. problem

and ﬁnd the initial solut1on by usmg Vogel’s Approxunatlon Method :

; (VAM)

- (d) A and.-B aretwo,cqetome_r‘s_ of _XYZ Electronics Ltd., a'ﬁ.ma'nufaoturer of -

E .._audlo players.

Selhng prlce per unlt is ?" 5400 Its cost of product1on per un1t 1s ? 4 420.‘ '4

. Addl.tlonal costs are ;" -

* Order Processing Cost a ;

. Delivery Costs

22,000 per order

1¥3,500 p'et-deliyety .

" Details of .ottstoﬁlers A and B for the period are given below :

© The Institute of Charter'ed} Accountants of India
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g CSM . . Marks
.Custom’er A Customer B

.-Audio Players _})ﬁrchased‘i o300 500 ‘ |

(nos.)
No.oforders . Sifcachof70 units) - 10 (each of 50 units)
- No. ofdelilkeriés R | 5 S 0

- The company s pOlle is to g1ve a dlscount of 5% on the. selling price
- .on orders for-50 units o more,; and to: further give 8% d1scount on thel
undlscounted selling: price 1f a. customer uses his own; transport to
collect the order Assume that productlon levels are not altered by these
| _orders | __ ” DU P
'(i)" You are requrred to analyse the proﬁtabrhty by companng proﬁt'
per unit for each customer | b PR
'(n) Comment on the d1scount pol1Cy on delWe1y SRR R
2 - (a) Innovahon Ltd has entered into a contract to supply a component to a . 8.
company wh1ch manufactures electromc equ1pments . _' - |

Expected demand for the compenent wrll be 70000 llnltS totally for all

L the penods Expected sales and producuon cost w1ll be L

s b

lrjl_’\-_‘e‘r_md_ I T 2 3

"_fs_a-léé'(u.aits)’;*a‘ . | 9500.} 17000 | 18500 | 25000 |

H '-Vanable cost per un1t " 30 130 32.50

.Total ﬁxed overheads are expected to be. ? 14 lakhs f01 all the penods

The p1 oductlon manager has to dec1de about the productlon plan

CSM
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I - T . s CSM o © Marks
' The cho1ces are : - | o

: L’m Produce at a constant rate of 17500 units per perrod Inventory :

' holdmg costs w1ll be ¥ 6.50 per unit of average mventory per penod

i T '"‘Plang ":Use.aJust-In-Tlme (J-IT) system

mventory hold1ng cost by JIT productlon system ;

B - " o (11) Advrse the company on the chorce of a plan

"denotes the elem'ent at th‘e .mters.eetio'n of the third row and ~2“-‘j 8

: zcolu'mn‘ Under thls notatlon R C]s R2C1, R3C19 R3C2= R3C3’ R4C3’

R C4 were the only zero elements 1n a 4><4 mtmmlsatlon ass1gnment

problem after the oW m1n1mum and column mmlmum operatlons

I --;"5 Ini the next step to draw llnes to cover zeroes a student drew 4

: honzontal lmes covermg rows Rl, R2, R3 and R4 Will he amve at

ass1gnment at. the ‘next step ‘? Why 9 Ex,plam the

_concept

5 - o o (11) Independent of (i), if 3 you are given the addltlonal 1nformat1on that

R2C2 element 18 lesser than the Row 1 and Row 2 non—zero_

:values how wrll you arrlve at the optlmal solut1on 2

© The Institute of Charteréd}Accountants of India
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CcSM - , - Marks

kg
s

_ 3 | ("a) Alpha Ltd. uses standald costmg system for manufacturmg its smgle 8 :
o ploduct ‘APS’. "
. Standard cost cerd is_as follows:;. 7 | R
| . | | i'f‘er uﬁif (4] -
| selﬁhgpfice' SRR o . 120 |
'Dlrect Materlal (1 kg per umt) ‘ | _' 20 o
'D1rect Labour (6hrs@ T 8perhour) i 48 B
t‘ Var]abl,e-Overheads_a s ‘- S " 24 B
| 'Ac-_t_u_al'_en.d ‘b_tllog‘eted ac’tiviiy;levéls-in umtsfor themonth o:féeptember .' B
' | ) ‘Budget . Actual :
j'Sa_les | 50;00_(5 51,200 ' -
'_P_'rodticitlfpr;r o E 50000 - .".5:2__,0'00‘
.'_Actual sales reveoue and srarleble costs for the month of September are

olven as under | :
" -'Sales__'_ : _61-3.3:760
Direct Material -__1055600-
- Direct Labour (3 00,000 hrs) | 2-442000-_ o

"Varlable Overheads S 122‘8000; S
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P Calcul’ate: ;  :

©
C—SM. |

- (i) - Direct Labour Rate Variance

(i1) 'Di‘teét'Lal:.)_o_ur-Efﬁciency‘Val‘i'anCe :

(iii) Sales Volume Variance

(iv) " Salles Price Variacne

(v) Comment on your findings in (i) and (ii) above. ~

(b) . The -foll_owing'fiﬁformation is given for a certain projlécf':"' B

Mark_s

| Activity

: Normal

Dli_rat-iun L

Difference

Normal

| Cost:

Crash

'C,_Ost.- L

:_.Diiffé.rer\i"cé-

| slope

Activity

| @ays)

| (Days}

(Days)

®

|

T®

(?/da.y)

I .

JHI =111

v

.'.Vll:.V_
vy |

v -

Vil= |

: e ‘_

640

700 | ¢

20

“-. 13 1

| 500

5751

75

_ ,.725_

14| s

o 400

550 -

150 |

30

2-4

 5‘

100

120 .

20

10

13-4

5 I .'10

| :"200 |

60

15 :

100" |

40 -
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' What is the normal project duration ?
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(i1) Perform stepaby -step: crashmg to reduce the project duratron by

5 days. What is the cost incurred for the optinial crashmg exerc1se ?

i)
 per rates in C olumn VII of the above table for every day 1e{axed"

,Indep‘endent of (i) above if the Project. Manager is able t6 save as

| for ‘the activities, compute the number of days and associated
, . o b savmgs for 5 days of relaxation, in the order of optimallty, W1fhout
_ ,cxtendmg the. prOJect ‘duration as per- (1) The Project’ Manager is

- o o o : mtercsted i# this exe1c1se to schedule resources

_ 4. (a) JCL Colporatlon manufactures and selIs two products RB and RD 8
' | Threc types of matcrlals A Band C are requrred for producmg these '

products ijected mfonnatron for 201 5-16 i is. g1ven bclow

B ;Prodguct -Pnoje_,_cted. -_:s_gales, i —.Inven_tory : Ihrect Labo&r

" for 2015-16 (m 'u'ni,tsj Requ:rement 5

: Units

lon 1-4-2015

lon'31-3-2016 |

Hours/Umt o

| RB | 75000 25000 | 31,250 4
~ RD | '-'5"0:000f 10,000 | 11,250 6

Raw matcrlal stock and usage are as follows

© Thelnstitute of Chartered Accountants of India

| _.-‘l}},l_l_‘;‘__(_}t | Requlred per unit Inyaentor_,y on -*In:vetitory*- on
| Material | pg RD | 142015 | 313206 |
_} A — 5 kg S 00 kg — '40(}00_@ | .‘4500.:kg- :
B 2.50 kg 3kg_. ' 36250kg | :40'00'0'kg-
¢ 0 " 1 r{g. '“_75_0;0-_kg T 8750 kg
con
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»
e

: .You are required to prepare the followmg for 20 15-16 :

() Productlon budget (in units) -

(ii) - Dlrect materlal purchase budget in quantltles for A, B and C.

(i) After 0 and (11) you ate told that only 6, 00 ,000 tabour hours wﬂl _

be available for productlon If there is no requ,lrement to laoid the .
. stated level of ﬁmshed goods olosmg 1nventory, what would bé
the prrnc1pal budget factor ? Substanttate your view wrth

: appropnate ﬁgures

* Mr. X has 4 I@ lacs whlch he want,s to 1nvest in the share market 8

_. ant1c:1pat10n of havmg good returns. He wants- to invest ortly in twa
_ .stooks and oné mutual fund with an 1nvestment allowed n each stock or o
. mutual fund not belng more than T 7dcs. |
R i Expected rate i Rrskratmg (ona B
of Return scale ofo to 10)
StockL | 15% | '}_‘_5”-"
|StockM | . 18% - | 8
| Mutoal Fund | B% 4

He does not want to accept an average rate of retumn below 12% or a

risk factor above 6..

- How much money he should invest in each alternatlve SO 48 to obtam

| the hlghest annual total return ?

'Formulate the above as ‘a linear program and present the mequalitles

: w1th coefﬁ(:tents in their. srrnplest integer forms

c¢sM . rTO
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-5, (a) Four products P, Q, R and S are produced by profit centre D1v1s1on A, 120

Each product 1S sold in the extemal market also. Data for the perrod are

“as follows L

| Pl Q| R]| s
Marhetprtce ﬁef.uni-t"(%)f._ ::- 70 69 56 | 46
* [Variable cost ?fﬁpfoaﬁctibn pe‘f uh_;if'.’(r) 66 | 59 | 36 37

(v
Wl
3% ]
(WS}

.' .Labour hours per 'unit

: Specrﬁc ﬁxed costs () per 10,000 umts of| 2500 -1260_0 1500018000 -

. product N

.Product S can be transferred to Drvrsron B but the. maxrmum quantlty B
" that mrght be requlred for transfer is 20, 000 units of S The spec1ﬁc
ﬁxed costs glven above are av01dab1e ifa ploduct is not made They are |

o rncurred for every 0, 000 umts

The maXimum sales __(units) in'the external marketare:

I ) 000"

Q31000 L
R 28,000
s 18 000

D1v1s1on B can purchase the same product at a shghtly cheaper pr1ce of : -
_? 45 per umt 1nstead of recelvmg transfers of product S from Dlv1sron
S -A wrthout any ‘extra tranSport/mspectlon costs. B can also take partral

" supplles from A.

S CSM.
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CowE . €SM - Marks

by

|1 Thetotal labour hours available in Division A is 192000 hours.

o o | _'(i)l What is A’s ‘optimal product mix' and the ‘corresponding '
contﬁbution_-net of specific fixed costs ?

- (i) How mfany-units;should A transfer to B and at wha't'. pr:i_:c_e' ?

: '_(_i'ri) Is it in the'company’s interest to transfer 2'(_)_.',.000 units of Sto B ?

(b) .Th'e_'hudgeted costdata o‘f a product'.manufact:uredphj.(- XYZCO Ltd. is .. 4

| ' furnished as below | | | -
:Budge‘ted umts to be produced 200000 | o ;. .

" Varlable cost (?) o 3 per umt . -

| o -'Fi-x'ed cost@ S 16"_1aés -

| It is proposed to. adopt cost plus prlclng approach vtnth a mark up of _

| 25% on full budgeted cost bas1s

S _,'However research by the' marketmg department 1nd1cates that demand
| Lof the product in the market 18 prtce sens1ttve The hkely market

- responses are as follows

| Selling price @ perunity | 44 | 48 | 50 | 56 | 60 |

R Anlit;al' l);t'anl?‘rlz(i (units) - | 168000 .1'"52000 'i 149000 128000 | 108000 |

~Analyse the above ;situ'atiorr_ar_id' determirnie the best course of action.

csM- - o PRTO.
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e csSM
X Ltd makes a stngle pl oduct w1th the follcwmg detalls
Descrlpnon | _Current Proposed
: - |-Situation. - Changee
Selhng Prlce (T/unlt) ,'10
. ‘;',Duect Costs (?/umt) | 5.
3 | F ‘. Present number of setups per plOdUCtIOIl - 42
pertod (before each productlon ran, setup | _
' "_1s done) L
' -;Cost'per's_et up (%) 450 Decr;ea‘s.'e'by
‘Production tnits per run 960 | 1008 |
E‘ngineering hours fo'r production.:_per_i.od.;_, 500 422 B
Cost per engmeerlng hour (T) . 10 S

I The company has begun Act1v1ty Based Costmg of fi xed costs and has '

-i,-presently 1dent1ﬁed two cost drlvers v1z productlon runs and =

engmeenng hours Of the total ﬁxed costs plesently at 4 96 000 after |

o :output

'the above‘ T 72, 100 remains to' be analysed ‘There are changes as-

| proposed above for the next productlon pertod for the same velume of

| (1) ) How many units and in how many productlon Tuns should X Ltd.}

act1v1ty based costs ? Why ?

€SM
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e produce in the changed scenario in order to b1 eak~even '? B

f(ii)- Should X Ltd contmue to break up the rematnmg ﬁxed costs into
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“(b) A dietician wants to “simulate arrivals of her patients and her = 8
~ ¢onsultation time with the f‘o’lloWirtg random-numbers.-Héf assistant has

[N

E}-l—reéd.y prepar_é_d-.;thc -ran_dom _humber allocl:atilo.n t.ables;
_“::[he.d_i'eticilaﬁ-w.'ants ‘-[of have ait idca of her'idlv_e’:t’il.ﬁé?and-.&‘:pati-entsz’
waiﬁ_n‘g_ tlme S_he’ Iﬂsta_rts’ her cqnsulrtatiqr}" at IOOOam and wants to giVe
| éﬁ_appoinmﬁt éﬂintérﬁ@ \o-f':Z_ZEO ﬁlinqtgs?_'ﬁe Random Number table is

. };as follows :

| Arrival ofipatient | 15 | 4 |35 |67 | 75 | 86 { 25|

Consultatlonﬁme 17 15 . 12' '. 58 60 _ 72 30

| - Random Number Allocation Tablg: 1" -

. "_'| . Patient | Probability | Cumulative| Random |
iy Pungtuality 1. . | Probability |  Ne. -

1040 | 063 | 23-62 |

] e [ i [ |

csM . pToO.
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(14)

’ ' C"SM

Random Nurnber Allocatlon Table : 2
l'_C_onsui_tatlon Probablhty Cumulatwe Random |
| Tlme N Pro_b'ablhty' '7'_'..No-.

ECE o | o3 ."0'0—‘12_'

18 BN ‘0.'1_5 1028 | 13227

[ | om | 0% | - |
30 | ow | 1o | 90-%9 |

, :(i)"

dietlclan 'S 1d1e times and patlents waltmg times:

| Ma_r-ks

Slmulate the - amval and consultatlon t1n1es and ﬁnd out the

(n) If chents are sensmve to waltmg, how would you adv1se the d1et1c1an

" as a Management Accountant based on the results of your exerc1se 7

: : as follows
o
@

B
@

j Should the product be manufactured ?

© Thelnstitute of Charteréd Accountants of India

'--Manufacturtng costs 216 per unit - |
_End of life costs 70,000

"Promotton and capaclty cost < 20 000

_(_:S-M R

Answer any. four out of the followmg ﬂve questlons

Research and developrnent de51gn costs ? 1 50 000

(a) A company is planmng a new product Market research 1nformat10n N
suggests that 40000 units of the product can e sold ata maxnnum of
T 25 per unit. The cornpany seeks a mlnlmum mark—up of 25% on

' 'product cost It is estlrnated that the hfetune costs of the product w111 be




(15)
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(b) State the most appropr1ate pucmg policy to be adopted in the: follow1ng 4

mdependent s1tuatlons

(Sltuatrons need not be c0pred ‘Only the Roman numelal and pohcy

need to be mentloned in the. answel book )
(i) - Modemn patented drug enterlng the market

'(i_i)' The latest version of a mobtle phone 1s be1ng launched by an -

: estabhshed ﬁnancmlly strong company.

- (_i_i-i) An establlshed company has recently entered the statlonery
: _market segrnent and launched good quallty paper for prmtmg at,. -

i 'home and ofﬁce

| (i\?_) A car manufacturer is - launchmg an. 1nnovat1ve technologlcally

. 'advanced car in the hlghly pnced segment o

RO What are the steps 1nvolved in Zero Based Budgetmg 7 4

T (d) : Proposal A is being evaluated agalnst Proposal B Flll up column IV of 4

the followmg table :

[ T e v
‘ Sl - Type of Cost Classification - Condltwn under
No S '_ :5, . : ‘_ whrch the
B " | B " classnﬁcatlon
happens
(i)~ Varlable cost per ‘unit | Trrelevant |
(i) 'Unav01dable ﬁxed costs ‘Re_le_‘v__ant_
| (iii) Out of ,pocket costs in | Releyant |
(1v) Sunk cost L e Irrelev"ant: .

(Only Colurnns I and IV are requlred to be presented in the answers)

CSM - . pToO.
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3o

' {e) State whether and why the followmg statements are valid or not vahd 4

"u

(Statemems need not be copted into answer book )

' 7(1) Target costmg is not apphcable to a rnonopoly market

(11) Target costmg 1gn0res non-value added activities.
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